AREA E PERIMETRO DI FIGURE PIANE
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PERIMETRO 2p AREA A
2p = AB+ BC+CD+ DA
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A base b B
PERIMETRO 2p AREA A
2p = AB+BC +CD+ DA=2x AB+2x BC A A
= 2x (AB+ BC) A = AB x BC AB:B—C BC’:E
=2x (b+h) h b



ROMBO

PERIMETRO 2p

2% = AB+ BC +CD + DA=4x AB

2 =1+1+1+1=4xI

QUADRATO

PERIMETRO 2p
2 = AB+ BC +CD+DA=4x AB

% =1+1+1+1=4xI
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A= 5 D = pi
oppure
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AB = 2p: 4 A = AB x AB = AB? AB=+VA
P=2p:d) A=ixi=P I=VA
oppure
il quadrato & un rombo
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a=PPXBD PP pp - vaxa
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A= dxd & d=VAX2




TRAPEZIO

PERIMETRO 2p

2p = AB+ BC +CD + DA

2p =B+l +b+1p
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